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Could you please choice the correct answer:
1. Purification of plasmid DNA from host cells done by:

A. 10 Min. Min. Prep.

B. Peter Method.

C. Insta Miniprep.

D. All of the above.

2. PPT by polyethylene glycol (PEG-800) is method for:
A. Purification of DNA.

B. Purification of plasmid DNA from host cell.

C. Purification of closed circular DNA plasmid.

D. All of the above.

3. Lithium chloride/urea method is used for isolation of:
A. Total DNA.

B. Total RNA.

C. m.RNA.

D. All of the above.

4. Sepectrophotometer method used for measurement of: 
A. DNA and RNA concentration.

B. DNA and RNA purification.

C. None of the above.

D. All of the above.

5. Molecular size of DNA expressed by:

A. Number of base pairs.

B. Number of the DNA strand.

C. All of the above.

D. None of the above.

6. Determination of DNA size can be done by:

A. Gel electrophoresis.
B. DNA sequencing.

C. None of the above.

D. All of the above.

7. Gel electrophoresis for DNA are found as:
A. Pulsed filed gel electrophoresis.

B. Regular Gel electrophoresis.

C. All of the above.

D. None of the above

8. Regular Gel found as:
A. Mini – Gel / Mid – Gel.
B. Mini – Gel / Mid – Gel / Large - Gel.

C. Large – Gel / Mini – Gel.

D. Large – Gel / Mid – Gel.

9. The electric voltages for gel electrophoresis depend upon:
A. Size of DNA.

B. Purity of DNA.
C. Conc. Of DNA.
D. None of the above.
10. Factor affecting the rate of DNA migration in agar gel:

A. Molecular size.

B. Confirmation of DNA.

C. Agar Conc. 

D. All of the above.

11. Plused field gel electrophoresis is used for:

A. Fractionation of high molecular DNA.
B. Separation of high molecular DNA.
C. None of the above

D. All of the above.

12. In transfer blot technique southern blot is for:
A. Transfer of protein. Western blot
B. Transfer of DNA.

C. Transfer of RNA. Northern blot
13. DNA blotting done by:

A. Capilary blot transfer.

B. Electro blot transfer.
C. Dot blot transfer.

D. All of the above.

14. Heat shock method is used for:

A. Extraction of DNA.
B. Transformaton of competent E.Coli.
C. Purification of DNA.
15. Polymerase chain reaction is an: 

A. In-Vito Method.

B. In-Vivo Method.

C. None of the above.

D. All of the above.

16. PCR used for:

A. Enzymatic Synthesis.

B. Amplification of target DNA.

C. All of the above.

D. None of the above.

17. Primers are:
A. Short synthetic sequences of double strand DNA.

B. Short synthetic sequences of single strand DNA.

C. Long synthetic sequences of double strand DNA.

18. There are ________ specific primers used in PCR:

A. Three.

B. Two.

C. One.

D. Four.
19. PCR found as:

A. PCR.

B. RT-PCR (Reserve Transcriptase).

C. LCR (Ligase Chain Reaction)
D. All of the above.

20. Steps of one PCR Cycle are:
A. Denaturation.

B. Annealing.

C. Extension.

D. All of the above.

21. Primer binding to its target DNA strand at ~ 50-65 o C/1min is:

A. Extension.

B. Annealing.

C. Denaturationc. 

D. All of the above.

22. Separation of ds DNA at (92 – 95) o C/1min is:

A. Extension.

B. Annealing.

C. Denaturation.
D. All of the above.

23. Polymerase chain reaction is an _________ method:

A. In Vivo.  

B. In Vitro.

C. None of the above

24. ​​​​​​​​​​​​_________ specific primers are used in Polymerase chain reaction:

A. Three.

B. Two.

C. One.

D. Four.

25. Each cycle in the PCR consist of:

A. Five Steps.
B. Four Steps.

C. Three Steps.

26. What is the probe?:
A. A piece of DNA Fragment of a particular gene.
B. Has specific sequences and numbers of nucleotides.
C. None of the above
D. All of the above.

27. DNA fingerprinting is also called:
A. DNA Typing.

B. DNA Profilig.

C. Restriction fragment length polymorphism. 

D. All of the above.

28. ​​​​_________ was carried out using DNA labeled Probe:
A. PCR
B. N.A Hybridization.

C. Fingerprinting.
29. Eukaryotic cells contain………………….

A. Primitive nucleus.

B. True nucleus.

C. No cell wall.

D. All of the above are correct.

30. Mitosis………………..

A. Occur in somatic cells.

B. Occur in sex cells.

C. The cell divides and gives 4 cells.

D. All of the above are correct.

31. Chromosomes………..

A. Contain RNA fibers.

B. Contain three arms.

C. Carry genes.

D. All of the above are correct.

32. ……..is the peace of chromosomes that carry a particular trait.

A. Nucleosome.

B. Nucleus.

C. Gene.

D. Solenoid.
33. The beaded appearance in the chromosomes is due to presence of………………..

A. nucleosome.

B. chromatin.

C. Histone proteins

D. All of the above are correct.

34. Metacentric chromosome………………..

A. Have 2 arms identical in length.

B. Have 2 arms unequal in length. Acrocentiric
C. Has only one distinguished arm. telocentric
D. All of the above are correct.

35. Chroosome 5 is an example of……………….

A. Acrocentric chromosomes.

B. metacentric chromosomes.  1
C. telocentric chromosomes.  13
D. None of the above is correct.

36. Normally the Somatic cells contain ……………

A. 46 chromosomes.

B. 23 chromosomes. Sex cell
C. 22 sex chromosomes.

D. ==
37. The ova carry…………….

A. 22X chromosomes. Sex cell
B. 22Y chromosomes.

C. 22XY chromosomes 

D. 22XX chromosomes.

38. Chromosomes are paired and arranged by……………

A. Banding.

B. Size.

C. Shape.

D. All of the above are correct.

39. The relation between the sequence of DNA and the sequence of corresponding protein is called……………..

A. Mutation.

B. Genetic code.

C. Nucleosome.

D. Chromatin.

40. MRNA carry the same sequence as the ………………..

A. Complementary strand.

B. Template strand.

C. RRNA.

D. All of the above are correct.
41. There are 64 different types of …………………

A. TRNA.

B. DNA.

C. RRNA.

D. MRNA.

42. …………….are enzymes sharing in  the MRNA transcription.

A. Repressor protein.

B. Inducer.

C. RNA polymerase.

D. All of the above are correct.

43. ………….. is the site on DNA on which RNA polymerase  binds

A. Promoter.

B. Nucleosome.

C. Gene.

D. Operator.

44. …………………..involves the decoding of all MRNA till the last codon.

A. Initiation.

B. Elongation.

C. Termination.

D. All of the above are correct.

45. Genotype is the…………………..

A. Visible properties.

B. Genetic factors responsible for visible properties.

C. The organism that carry the altered gene.

D. The organism that carry the normal gene.

46. Phenylkotonuria is an example of……………………….

A. Deletion mutation.

B. Null mutation.

C. Nonsense mutation.

D. Missense mutation.

47. The Sickle cell anemia patient will show ………….genotype.

A. Hb AC.

B. Hb AA.

C. Hb SS.

D. Hb AS.

48. The gene locus that control the blood group (ABO) IS located on chromosome………….

A. 1.

B. 2.

C. 9.

D. 7.

49. …………….molecule is added to H-Ag to form O -antigen
A. N-acetyl galactose amine..

B. D- galactose.

C. A and B

D. None of the above is correct.

50. The most important genetic factor in tissue typing is………

A. ABO system.

B. RH factor

C. HLA system.

D. None of the above is correct.

51. Albinism disease is an example of……………..

A. Autosomal dominant anomalies.

B. Autosomal recessive anomalies.

C. X linked anomalies.

D. None of the above is correct.

52. The missing of one chromosome is named………….

A. Monosomy.

B. triosomy. 

C. Polyploidy.

D. Chromosomal aberration.

53. The genotype of Turner's syndrome is………………….

A. 47XXY.

B. 45X.

C. Trisomy 21.

D. Trisomy 8.

54. The genotype of Patau's syndrome is………………….

A. 47XXY.

B. Trisomy 13.

C. Trisomy 21.

D. Trisomy 8.

55. ……………….is made of DNA and proteins.

A. Nucleoli.

B. Nuclear chromatin.

C. Mitochondria.

D. Nuclear membrane.

56. The genotype of Klienfilter syndrome is……….

A. 47XXY.

B. 45X.

C. Trisomy 21.

D. Trisomy 8.

57. Group of nucleosomes is a …………..

A. Chromosome.

B. Nucleus.

C. Gene.

D. Solenoid

58. Telocentric chromosome………………..

A. Have 2 arms identical in length.

B. Have 2 arms unequal in length.

C. Has only one distinguished arm.

D. All of the above are correct.

59. It means Flow of genetics information from DNA to mRNA then amino acid :
A. A.Gene expression 

B. B.Karyotype 

C. C.Gene 
D. D. all of the above 

60. 32-All these are true for somatic cell EXCEPT:

A. Divided by meiosis

B. Contain 46 chromosome 

C. 22 pairs for autosome & one pair for sex chromosome 

D. Body cell

61. Function of plasma membrane ,EXCEPT:

A. Transport metabolites 

B. Communication 

C. Carry genetic information

D. Maintain cell wholeness

62. The function of Phospholipids in plasma membrane is to :

A. Permit diffusion of lipid soluble materials 

B. Provide stability 

C. Carry enzyme 

D. Carry hormone

63. It is the site of most cellular activity:

A. Plasma membrane 

B. Nucleus

C. Nucleoli

D. Cytoplasm

64. Growth & development are the importance of  :
A. Cell nutrition 
B. Cell division 

C. Cell mutation 

D. None of the above 

65. A piece of chromosome that dictates a particular Trait is called :

A. Gene 

B. Chromosome walking 

C. Centromere

D. Nucleosomes 

66. Chromosome walking mean :

A. Have short & long arm
B. Way to search for a gene 

C. Gene cloning 

D. Both C & B 

67. It is a group of nuclesomes that coiled together to form A…….. 

A. Histone  protein    
B. Chromatin

C. Solenoid
D. Chromosome

68. Telocentric  chromosome  EXCEPT :

A. Chromosome no. 5
B. Only one clearly distinguish arm 

C. Centromere is closer to one end of chromosome 

D. Chromosome no.13

69. All of these true about genetics code EXCEPT :

A. It is Triplicate of nucleotide 

B. These code for 20 amino acid 

C. The two strand of DNA hold the genetic information 

D. The direction of reading from 3'-> 5'

70. Orcein stain used  to stain :
A. Nucleus
B. A/T bp of DNA 

C. A/T bp of RNA

D. Both DNA & RNA

71. Central Dogma of molecular Biology :

A. DNA replication 

B. Transcription of DNA to mRNA

C. Translation 

D. All of the above

72. It  is a specific binding site on DNA to which Repreosser is bind

A. Promoter

B. Operator 

C. Reprosser 

D. Inducer

73. RNA polymerase  responsible for :

A. TRNA

B. RRNa

C. MRNA

D. All of the above

74. The states of Transcription depend on the presence or absence of:

A. Inducer

B. Receptor for inducer

C. A & B
D. Operator

75.  It means Decoding of mRNA to amino acids by tRNA in the ribosome:

A. Translation

B. Transcription 

C. Duplication 

D. Gene expression

76. It means decoding of all mRNA codon till the last codon :
A. Initiation 

B. Elongation 

C. Translocation 

D. Termination

77. All of these are stop codon EXCEPT :

A. UAA

B. UAG

C. UGA

D. AUG

78. The codon recognition appears on :
A. A Site of ribosome

B. P Site of ribosome

C. Small  ribosome

D. All of the above

79. The most rapid step in protein synthesis is :

A. Initiation

B. Elongation 

C. Termination 

D. None of the above

80. Initiation Factor are required to bring :

A. MRNA , tRNA & Ribosome  together 

B. RNA , DNA & Ribosome  together

C. Code & Ribosome  together

D. All of the above

81. HLA system controlled by gene located on the chromosome number :

A. 6

B. 11

C. 3

D. 8

82. Disease result from Tyrosinase deficiency:

A. PKU

B. Albinism 

C. Hemophilia

D. Cystic fibrosis    

83. The incidence of ……………..has high relation with maternal age

A. Down's syndrome 

B. Pataus's syndrome 

C. Edwars's syndrome

D. Turner's syndrome 

84. It is cell membrane ions defect in exocrine cells:

A. Cystic fibrosis

B. Hemophilia

C. Albinism

D. PKU

85. The organism that carrying the Altered gene:

A. Phenotype 

B. Genotype

C. Mutant type

D. Wild type

86. Mechanisms of mutation depend on:

A. Substitution , addition & removal 

B. Substitution  & addition only 

C. Addition & removal

D. None of the above

87.  The causes of mutation:

A. Radiation 

B. Chemicals

C. Histological 

D. A & B
88. All of these true about Sickle cell Anemia EXCEPT:

A. Substitution of Glutamic acid (GAA) by Valine (GUA)

B. Missense mutation 

C. Sickling  of RBC

D. Substitution of Valine acid (GAA) by Glutamic (GUA)

89. The defect appear in factor 8 & bleeding future :

A. Hemophilia

B. Albinism

C. Beta thalassemia

D. G6PD deficiency

90. Phenylkotonuria is an example of……………………….

A. Deletion mutation.

B. Null mutation.

C. Nonsense mutation.

D. Missense mutation

91. It is a state having three Chromosomes instead of usual pair:

A. Monosomy.
B. Tisomy.

C. Polyploid.
92. Chrmosomal aberrations:

A. Structural rearrangement. 
B. Result from Chromosome breakage.
C. All of the above.

93. Chrmosomal aberrations includes:

A. Deletion.
B. Duplication. 

C. Inversion and translocation. 
D. All of the above. 

94. These disorders developed due to mutation in one gene:

A. Single gene disorder.
B. Polugenic disorder.
C. Multi – factorial disorder.
95. It includes The structural gene, control and regulatory sites:

A. Genetic codes.
B. Operon.
C. Gene expression.
96. All of these true about Acrocentric, except:

A. 2 arms are unequal in length.  
B. Chromosome 5. 

C. Centromere is closed to one end.
D. Chromosome 1.
97.  All of these are cell organelles except:

A. Ribosme.
B. Golgi apparatus.
C. Mitochondria.
D. Primer.
98. _________ is the structural unit that makes up plants, animals and human body:

A. Mutation.
B. Cell. 

C. None of the above.
99. The Chromosome bands are stained with Giemsa after brief exposure to trypsin:

A. G-banding.
B. Q-banding.
C. All of the above.

D. None of the above.
100. Types of cells:
A. Eukaryotic cells.

B. Prokaryotic cells.
C. All of the above.

D. None of the above.
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